
       

=====================================================================================
{ 
dipmsh_->get_center(pt2, dip_idx); 
dipfld_->value(P,dip_idx); 
 
Vector radius = pt - pt2; // detector - source 
Vector valuePXR = Cross(P, radius); 
double length = radius.length(); 
 
mag_field += valuePXR / (length * length * length); 
} 
 
mag_field *= one_over_4_pi; 
magmagfld_->set_value(Dot(mag_field, normal),idx); 
magfld_->set_value(mag_field,idx); 
 
===================================================================================== 
 

𝐵𝑠𝑐𝑖 = −1.73𝑒−6 𝑇 𝑎𝑡 𝑛𝑜𝑑𝑒 𝒑𝒕 (388, −231, 474) 𝑑𝑢𝑒 𝑡𝑜 𝑑𝑖𝑝𝑜𝑙𝑒 𝑜𝑓 𝑠𝑡𝑟𝑒𝑛𝑔𝑡ℎ (0,0,1) 𝑎𝑡 𝒑𝒕𝟐(31, −16, 432)  
 

𝑟𝑎𝑑𝑖𝑢𝑠 =  𝑝𝑡 −  𝑝𝑡2 =  (−357, 215, −42) 
 

𝑣𝑎𝑙𝑢𝑒𝑃𝑋𝑅 = |
𝑖̂ 𝑗̂ 𝑘̂
0 0 1

−357 215 −42

  | =  −215𝑖̂ − 357𝑗̂  

 

𝑙𝑒𝑛𝑔𝑡ℎ = 𝑟𝑎𝑑𝑖𝑢𝑠. 𝑙𝑒𝑛𝑔𝑡ℎ( ) = √(𝑝𝑡 − 𝑝𝑡2 )2 = 418.8  
 

𝐵𝑐𝑎𝑙 =
1

4𝜋
(

−215𝑖−357𝑗

 418.8×418.8×418.8
)  = (2.32𝑒−7𝑖̂ − 3.86 𝑒−7𝑗̂ ) 𝑇𝑒𝑠𝑙𝑎  

 

 

===================================================================================== 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


